CLASS : VI

ENGLISH WEEKLY STUDY MATERIAL ( 18/01/ 2021 - 23/01/2021)

TOPIC : UNIT — 6 LOB’S GIRL — John Aiken
LEARNING OBJECTIVES:

* Students will be able to read and comprehend the story in their own words.
* Learners will be able to express the ideas orally and in writing.
* They will be encouraged to find the meaning of the difficult words from the text.

* Students will be able to attempt the comprehension exercises based on the section
taught.

URL : https://www.youtube.com/watch?v=1254SJ8SSU8&t=1966s

Perspective and Narrator

"Lob's Girl" is told from the omniscient third-person perspective. The narrator is an unnamed
individual who relates the events of the story from multiple characters' viewpoints.

Tense
"Lob's Girl™ is written in the immediate past tense.

About the Title

Lob is referred to as "Sandy's dog" multiple times in order to emphasize the close relationship
between Lob and his owner. The title "Lob's Girl" shows this relationship from Lob's
perspective. He is Sandy's dog, and Sandy is Lob's girl.

LOB’S GIRL PLOT

INTRODUCTION

1. The Pengelly children meet Lob while playing on the beach.

RISING ACTION

Mr. Dodsworth takes Lob home to Liverpool.

Lob walks back to Cornwall but is returned to his owner.
Lob is given to the Pengellys after he runs away again.
Sandy is asked to visit her aunt and takes Lob with her.
Lob goes missing after Sandy is hit by a truck.

CLIMAX

lLob appears at the hospital and is brought in to see Sandy.


https://www.youtube.com/watch?v=12S4SJ8SSU8&t=1966s

FALLING ACTION

ISandy wakes from her coma to pet Lob.

RESOLUTION

9Lob vanishes because he is actually a ghost.

CHARACTER MAP

Loyal and
loving dog

Former
owner

Vacationer

Granny Pearce 1
from Liverpool;

Mr. Dodsworth
Owner
Lob's old owner

Grandmother

Maother-in-Law Lob’s owner;

eldest daughter

Bert Pengelly ‘ Aunt

Fisherman
s@ Aunt

Aunt Rebecca

brother

Don Pengelly
Young fisherman

PLOT SUMMARY

In the short story, Lob’s Girl by Joan Aiken, a girl named Sandy and a dog named Lob
formed a strong friendship that helped them get through a tragic event. Throughout the story,
Sandy and Lob developed an intense friendship that turned into an inseparable bond. The
series of events in the story enabled the reader to understand the depth of their relationship
and the power of loyalty; that seems to even surpass the realm of reality.




The story opened with the idea that Lob “decisively” chose to be with the Pengelly family
instead of his owner. The decisiveness of their first encounter was evident when Lob forcibly
knocked Sandy down and began “licking the sand off Sandy’s face” because he was so
excited to see her. When they were playing fetch, Lob returned a stick to Sandy and ““at the
same time he gave himself.” To give oneself to someone is to show unconditional devotion.
This devotion was mutual because, “...with Sandy, too, it was love at first sight.” The
relationship between Lob and Sandy started off strong and became even stronger.

As the story’s events unfold, there were two different occasions when Lob walked over four
hundred miles from Liverpool to Cornwall in order to be with Sandy. Lob endured “worn,
dusty and tarry feet” and arrived hungry and thirsty from his long journey. He also faced
insurmountable dangers when he appeared with, “a torn ear and a patch missing out of his
furry coat, as if he had met and tangled with an enemy or two...” just so that he can be with
Sandy. Lob’s persistence to be with Sandy would not be compromised. Sandy’s loyalty
towards Lob also grew each time she was force to return Lob to his owner. After the first
time they separated, Sandy “walked home miserably, with her shoulders hunched and her
hands in her pockets.” Their second parting “was worse than the first.” Sandy “lay with her
face pressed into the quilt, feeling as if she were bruised all over.” Sandy and Lob not only
wanted to be together, they needed to be together.

The strength of Lob and Sandy’s relationship was never more apparent than when they had to
face adversity and tragedy. When Mrs. Pengelly asked Sandy to go spend the night at her
Aunt Rebecca’s house, Sandy requested that Lob accompanied her. On their way to Aunt
Rebecca’s house, both Sandy and Lob were both struck by a truck that lost control while
traveling down a steep hill. Both were severely injured—Sandy with a coma and Lob killed
upon contact. As Sandy lay in the hospital bed, she showed, “no signs of recovering
consciousness,” until a dog, resembling Lob, visited her. Even a hospital guard who, “was
gently but forcibly shoving out a large, agitated, soaking wet Alsatian dog” could not stop the
dog from seeing Sandy. After hearing the dog’s “faint whine, anxious and pleading... Sandy
stirred just a little. She signed and moved her head...” Everyone in the hospital room could
not believe what just happened...Sandy woke up from her coma! “Her eyes opened” and she
murmured, “Lob? Lobby boy?” Was the dog Lob? There is evidence that supports both
sides of the argument: The dog is not Lob because “Lob was killed by the same truck that hit
Sandy. Don found him... He was—he was dead. Ribs all smashed” or the dog by Sandy’s
bedside in the hospital IS Lob because as Sandy’s “groping fingers found Lob’s wet ears and
gently pulled them. ‘Good boy,” whispered Sandy, and fell asleep again.”

Aiken purposefully ended this short story mysteriously to allow the readers to draw their own
conclusion about the dog that came to Sandy’s bedside at hospital. This communicates the
message that true loyalty and strong relationships can withstand any circumstances—natural
or supernatural.



Comprehension Exercises:

I. Choose the correct option:

Q.1 Where did Sandy and Lob first meet
a) In Liverpool

b) on a winding steep hill

c) on the beach

d) at the park

Q.2 What does "melancholy™ mean?

a) sad and gloomy

b) imitating and harsh

c) angry and upset

d) in love

Q.3 How many times did Mr. Dodsworth come on the train to retrieve Lob?

a) one time
b) two times
c) three times

d) zero times

Q.4 Where Sandy going when she got hit by the truck?

a) to the store
b) to return Lob to his owner
c) to school

d) to visit her aunt

Q.5 What was unusual about Lob's presence at the hospital?

a) he was all wet

b) he was limping

c) he was growling

d) he wasn't there

Q.6 What does "reluctant™ mean?
a) to be sluggish

b) to be excited

(1x8)



c) to be unwilling

d) to be mean

Q.7 The author foreshadowed the accident by

a) telling us that Aunt Becky doesn't like dogs

b) pointing out the scene of the accident multiple times
c) making Dr. Travers drive through Cornwall

d) describing the weather as warm and dark

Q.8 Why does Mr. Dodsworth finally agree to let Lob live with the Pengelly family?
a) Mr. Dodsworth can't afford to feed Lob anymore

b) Lob licks Sandy's face

c) Lob walks across England twice to be with Sandy

d) Lob need long walks every day

I1. Answer the following questions: (2x4=8)

1. How does Lob show his devotion to Sandy as he continues to return to her throughout the
story?

2. For both Sandy and Lob it was love at first sight. Give reasons to support your answer.
3. Where did Mr.Dodsworth live?
4. How long did Lob live with the family?

I11. Value Based Question:

1. Describe Sandy’s condition before and after Lob’s visit. What does this reveal about the

strength of their bond?
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Class 6 Maths Study Material

Revision

https://youtu.be/KPVODrQPIBA

Learning outcome- To be able to

- solve questions based on Integers
- ldentify different types of triangles
- Draw different types of 2D and 3 D shapes

Table of units

Kg= 10 Hg
Hg= 10 Dag
Dag=10g
Gram= 10 dg
decim= 10cg
Cg=10mg
mg

Question Bank
Very Short Answer Type Questions( 1 marks)
Solve

I -35+20
Il. (-15) —(18)


https://youtu.be/KPVODrQPIBA

Il. Write in ascending order
Iv. 0.100, 0.001 ,0.101, 0.010 ,0.111
V. 7.35 lies between which two whole Numbers ?
VI. Name a regular polygon with
a. Three sides
b. Four sides
VII. Name the types of triangle LMN with given angles of 30 degree, 70 degree, 80 degree.

Short Answer Type Questions( 2 marks)

Solve

1. (-20)—(-13)
2. 23-(-12)
3. (-9)-11—(-30)
4. (-16) +32-9-4
5. (-287) +(-296)
6. Express 2764 mg asgm
7. Express 100km 25m as Km
8. Write in fraction form

i. 2.5

ii. 3.8

iii. 0.005

9. Add 10.7+10.77+10.777
10. What fraction of a clockwise revolution have you turned when it goes from
a. 4to7
b. 1to10
11. What part of revolution have you turned if you stand facing
a. eastand turn clockwise to face north
b. South and turn clockwise to face east
12. Give reason for
a. Asquareis a special rectangle.
b. Arectangle is a special parallelogram.

Long Answer Type Questions( 3 marks)

1. Fillinthe blanks<,, =
(-3) +(-6) _(-3)—(-6)
d (-8)+8___ 0
(-25) ~(-42) _(-42)-(-25)
f. (-21)—(10) ___ (-31) +(11)
2. Neeta travels 20 km 50m every day. Out of this she travels 10 km 200 m by bus and the rest
by auto. How much distance does she travel by auto?
3. Priya bought a Maths book for Rs 50.60,an English book for Rs 70.50 and a Hindi book for Rs
23.80. She gave a 500 Rs note to the shopkeeper. How much balance did she get back?
4. Draw the following shapes and write their number of faces, edges and vertices
a. Cuboid

o

@



b. Cube
c. Pyramid
5. Draw the following polygons and draw their diagonals
a. Pentagon
b. Hexagon

Science Worksheet
Class-VI

Chapter: Body movements (revision)

https://www.youtube.com/watch?v=gmcj6ZvHBijk

Learning Outcomes:

e To revise the concepts of joints in our body.
e To recapitulate the subtopics in the chapter body movements thoroughly.

REVISION:

We are able to bend and rotate our body in place where two bones are joint together due to which
we can move our hands, fingers, necks, leg in different directions.

BALL AND SOCKET JOINT:

This is the type of joint in which ball shape surface of one bone fitted into the hollow space of
another bone also called socket.

In this type of joint movement can be done in all the directions. For example: shoulder joint, hip
joint.

Pivotal Joints:
Pivotal joints allow for rotation, twisting, extension, and flexibility.

This is the joint where our neck joints head and allow the movement of forward, backward, left and
right direction.

It is moreover like a cylindrical bone moving in a ring.

Hinge Joint:

Hinge joints are found between the two or more than two bones where we need back and forth
movement. For example: knees, elbow, ankle joints.

Fixed Joint:
As the name says these type of joints are called fixed because it does not move in any direction.

For examples: Bones present in your head also called skull bone which does not move. You can
observe by moving your jaw but you can not move your upper part of mouth because it is fixed.

Bones


https://www.youtube.com/watch?v=qmcj6ZvHBjk

Skeletal structure is composed of hard material which is made up of calcium called

In adult human body 206 bones are present of various shape and size according to there functions.

Various shape and functions of bones

If you breath in deeply you can feel with your hands the chest bone in front side which is
joined to the number of small bones on the back side these small bones combinedly called as
backbone, which is helpful in bending front and back.

Bones which join the chest and the backbone is called ribs present left and right side of chest
bone these were 12 pairs of ribs these bones combinedly called as rib cage.

It protects lungs and heart from any mechanical rear and tear.

If you will touch just below your stomach area you will find the presence of pelvic bone. This
is the kind of bone you sit on.

The skull is the most hard and tough bone of our body which protects our brain from any
mechanical injuries.

Cartilage

e Cartilage is also an important component of body. when you touch your ear and nose

you will find it flexible this is due to the presence of cartilages.

e Itis softer and more flexible than bone. Cartilage is also found between the joints of knee

and hips.

Muscles

Muscles are attached to the bones and is responsible for the movement of human body.
There is change in the length of muscle due to contraction and relaxation.

If you move your arm touching your shoulder you will observe the buldging part on your
arm, this is muscle due to contraction and it come back to its normal position if you stretch
your arm and muscle come to relax.

QUESTION BANK:
VERY SHORT ANSWER TYPE QUESTIONS: (1 MARK EACH)
1. Which is the longest bone in our body?

2. Does the shoulder bone also move when you move your arm?

3. How many pairs of wing does a cockroach have?

SHORT ANSWER TYPE QUESTIONS: (2 MARKS EACH)
1. What is cartilage?
2. What is a backbone?



LONG ANSWER TYPE QUESTIONS: (3 MARKS EACH)
1. What do bones of a skeleton do?

2. What is skull? What is it made of?

CRITICAL THINKING BASED/HOTS/VALUE BASED QUESTIONS: (3 MARK EACH)
1. How many bones are there in a new-born baby? How it becomes 206 bones by adulthood?

2. Sia fractured her leg while playing. Doctor plastered her leg and advised her to take calcium
tablets and milk regularly. He also asked her to get plenty of sunlight. Sia followed the doctor’s
advice.

(a) What is fracture?

(b) Why did the doctor advise Sia to take calcium tablets?

(c) Why did the doctor ask Sia to get plenty of sunlight?

(d) What value of Sia is shown here?

ACTIVITY:

1. Draw diagrams of the different types of joints in our body.

2. Find out about the fractures of bones, draw pictures and write about the treatments provided
for the same.

SOCIAL SCIENCE STUDY MATERIAL
TOPIC- RURAL ADMINISTRATION

Video link: https://voutu.be/ o ggk9pYIU

LEARNING OBJECTIVE-

Students will be able to:-

e Understand conditions that underline and impact life strategies of various groups of people
e Examine whether the conditions and opportunities for making a living are equally available to
all or not

INTRODUCTION

Rural people follow primary occupations like agriculture, fishing, dairy product and cattle farming.
Agriculture is their main occupation

MIGRATION

Movement of people from one place to another in order to live & work. Migration from rural to urban
areas has increased in past few years in India

DIFFERENT TYPES OF FARMERS

Large farmers

e they lend their land to farmers
e they usually do not work as cultivator
e they live in pucca houses

Middle farmers



https://youtu.be/_o_gqk9pYlU

e they work on the land with their families using primitive tools
e crops like, wheat and barley are grown

Small farmers

e own land less than 2 hectares
o those with no land work for large scale farmers

BEING IN DEBT

Farmers borrow money to fulfil the basic needs of the farming land. Sometimes, they are unable to
return the loan due to the failure of monsoon, which results in debt and finally the major cause of
distress

COMMUNITY DEVELOPMENT PROJECT

Aim- to develop villages & improve agricultural production
Launched on- 1952 by Government of India
About the project-

e easy term loans are provided
o different branches have been opened
¢ land was given to landless labourers to make them self reliant

DAIRY FARMING

e Dairy farming is a class of agriculture form long term production of milk, which is processed
(either on the term or at a dairy plant, either of which may be called a dairy) for eventual sale
of a dairy product.

o Cattle farming & dairy farming is commonly practiced in rural areas

o Villages are centres of dairy products like milk, butter, cheese, cream, ghee etc.

SUBSISTENCE FARMING




The practice of growing crops and raising livestock sufficiently only for one’s own use,
without any surplus for trade.

TERRACE FARMING

This means that the land on a hill is made into flat plots and carved out in steps. The sides of
each plot are raised in order to retain water. This allows water to stand in the field, which is
best for rice cultivation.

Practiced in areas like- Nagaland, Meghalaya, Uttarakhand etc.

QUESTION BANK

Very Short Answer Questions- 1 mark questions

I. Fill in the blanks:-

el NS>

The people of Chizami village do farming.

Nearly of all rural families are agricultural labourers in India.

Sekar has a hybrid cow, whose milk he sells in the local

In some villages in central India, both farming and from forest are important sources of
livelihood.

The people of Pudupet village earn their living by

I1. Answer the following in one sentence:-

1. Define rural area.
2. Explain subsistence farming.
Short Answer Questions- 2 mark guestions
1. Who are landless farmers?
2. Name the main occupations of people living in rural area.
Long Answer Questions- 3 mark guestions
1. Differentiate between large and small farmers.
2. List three situation in which crops can be ruined.
3. Under which circumstances poor farmers find themselves unable to pay back their
loans? What happens after that?
CRITICAL THINKING
1. Do people migrate from rural areas to urban areas or vice-versa? Why is it so?
2. Why do the agricultural labour work only for a couple of months in a year & later travel to
cities?
3. List few steps according to you that the government can take to help the small/ landless

farmers.

ACTIVITY



e Make a poster giving pictorial representation to various rural and urban livelihoods.
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